
C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 1 OF 24SCALE: 1:80

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



 R1000  R
10

00
 

 2
00

0 

 R1500  R1500 

 R15
00

 

 1500 

 R1500 

 1000  1000 

 1500 

 R1500 

 R1000 

 R1000 

 2000 

 R1500 

 1500 

 R1500  R
15

00
 

 1
50

0 

 1500 

 R
15

00
 

 1
00

0 
 1

00
0 

 R1500 

 1540 

 R1540 

 13879 

 1
46

29
 

 10379 

 R1780 

 1
50

0 

 R
17

80
 

 1
78

0 

 2
00

0 

 R1835 

 R1000 

 1
54

0 

 R
18

35
 

 1780 

 R1835 

 R
10

00
 

 1000  1000 

 1
35

90
 

safety area

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 2 OF 24SCALE: 1:100

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



 13879 

 1
46

29
 

 682 

 1756 

 1
92

5 
 8

50
 

 8
50

 
 1

31
5 

 850  2542  850  1535  2295 

 4
17

4 
 8

50
 

 2
67

0 

 1
82

0 

 8
50

 
 2

08
0 

 8
50

 
 8

50
 

 8
98

 

 4
70

 

 1
20

5 

 850  850  2542  850  1692  850  1194 

AA AB

AC AD

AE AF

GA GB

GC GD

BA BB

BC BD

CA CB CC

CD CE

CF CG CH

DA DB

DC DD

FA FB

FC FD

EA EB

EC ED

HA HB HC

HD HE HF

foundation

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 3 OF 24SCALE: 1:100

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



 10379 

 4
33

7 

 5
0 

 1
20

0 

ground
 13589 

 3
93

7 

 2
40

8 

 1
20

0 

 2
00

0 

B

C

D

1 2

A

321 4

B

A

5 6

C

Multi Activity Centre OLD TOWN Maxi

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:120 SHEET 4 OF 24

A4wood, metal, plastic
WEIGHT: 

M.Rebase 5.12.2012

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

LM300-4



18

19

4

1

22
21

21

17

15

22

16

5 7
6

20

10

1212
13

14

11

9

8

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Multi Activity Centre OLD TOWN Maxi

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:70 SHEET 5 OF 24

A3wood, metal, plastic
WEIGHT: 

M.Rebase

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

LM300-4

5.12.2012



ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 platform A laminated wood 1
2 beam 40x2000 painted steel 4
3 rope tunnel L_2000 PP covered steel wire 1
4 platvorm B laminated wood 1
5 inclined rope bridge PP covered steel wire 1
6 platform C laminated wood 1
7 inclined bridge l_1590 wood 1

8 bridge with steps PP covered steel wire, 
plywood,metal 1

9 platform D laminated wood 1
10 platform E laminated wood 1

11 bridge with beam PP covered steel wire, 
plywood,metal 1

12 inclined beam d.40x1650 painted steel 2
13 inclined rope path L_1600 PP covered steel wire 1
14 platform F laminated wood 1
15 platform G laminated wood 1
16 bridge platform laminated wood 1

17 suspended stairs PP covered steel wire, 
wood,metal 1

18 platform H laminated wood 1
19 tunnel PE plastic 1
20 horisontal ladder galvanized painted steel 1
21 guardrail d.40x770 painted steel 2

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 6 OF 24SCALE: 1:70

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



11

2
2

1

2

2

1

5

4

7

10

8

6
7

6

7

3

3

platform A

?

ITEM 
NO. PART NUMBER DESCRIPTION /QTY.

1 post 98x98x2350 laminated wood 2
2 post 98x98x3200 laminated wood 4
3 platform laminated wood, metal 2
4 slide guard block plywood, painted steel 1
5 slide h_1550 stainless steel, PE plastic 1
6 panel 750x600 plywood 2
7 panel 750x750 plywood 3
8 climbing panel h.1200 laminated wood, plywood 1
9 guardrail d.40x770 painted steel 1
10 rope d.16x1200 PP covered steel wire 1
11 roof plywood 1

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 7 OF 24SCALE: 1:40

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



1

11

1

1

3

333

4

2

platform B

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x3200 laminated wood 4
2 platform laminated wood, metal 1
3 guardrail 25x770 painted steel 4
4 roof plywood 1
5 slat 25x30x750 wood 1

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 8 OF 24SCALE: 1:40

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



6
4

3

66

6

3
3

7
2

3

3

7

3

6

3

66

5

1

1

1

1

1

1

1

1

platform C

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x2350 laminated wood 8
2 panel 750x600 plywood 1
3 beam 40x770_2 holes painted steel 7
4 beam 40x770_6 holes painted steel 1
5 net 1670x1670 PP covered steel wire 1
6 guardrail 25x770 painted steel 7
7 panel 750x750 plywood 2

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 9 OF 24SCALE: 1:40

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



7

1

1

5
2

4

3

1

1

6

platform D

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x2800 laminated wood 4
2 platform laminated wood, metal 1
3 panel 750x600 plywood 1
4 panel 750x750 plywood 1
5 guardrail 25x770 painted steel 1
6 rope ladder h_1200 PP covered steel wire 1
7 roof plywood 1

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 10 OF 24SCALE: 1:40

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



6

2

2

2

2

444

1

77

5

3

platform E

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 climbing pole galvanized painted steel 1
2 post 98x98x3200 laminated wood 4
3 platform laminated wood, metal 1
4 guardrail 25x770 painted steel 3
5 panel 750x600 plywood 1
6 roof plywood 1
7 panel 750x127 plywood 2

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 11 OF 24SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



8

1

1

5

7

6

4 3

1

1

2

platform F

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x2800 laminated wood 4
2 platform laminated wood, metal 1
3 slide h_1200 stainless steel, PE plastic 1
4 slide guard block plywood, painted steel 1
5 curved ramp wood, metal 1
6 guardrail d.40x770 painted steel 1
7 rope PP covered steel wire 1
8 roof plywood 1

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 12 OF 24SCALE: 1:40

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



9

1

13
6

7

8

2

1

1

4

5

3

platform G

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x2350 laminated wood 4
2 post 98x98x2100 laminated wood 1
3 platform laminated wood, metal 1
4 panel 750x600 plywood 1
5 panel 750x750 plywood 1
6 guardrail 25x770 painted steel 1
7 beam 40x1455 painted steel 1
8 climbing net PP covered steel wire 1
9 roof plywood 1

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 13 OF 24SCALE: 1:40

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



6

8

1

1

1

9

5

2

2

444

3

3

5

5

11

4

7

9

101

platform H

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x3600 laminated wood 4
2 post 98x98x3200 laminated wood 2
3 platform laminated wood, metal 2
4 guardrail 25x770 painted steel 4
5 panel 750x600 plywood 3
6 roof plywood 1
7 climbing wall 750x1800  plywood 1
8 tunnel slide PE plastic 1
9 panel 750x750 plywood 2
10 slat 25x30x750 wood 1
11 slide support painted steel 1

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 14 OF 24SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



 300 

 5
0 

 2
00

 

 5
00

 

 4
55

 

ground

concrete

3 21

213 2 17

4

3

312

5

66

post

connecting metal ground fixing to post

ITEM 
NO. PART NUMBER

1 screw DIN7504K 5,5x50
2 nut cover M6
3 nut cover cap M6
4 metal ground fixing L_600
5 plastic cap 115x115
6 Woodscrew 6 x 90

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 15 OF 24SCALE: 1:8

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



5 3 6

4

44

4

44

44

6

3

5

2 1 3 2 31

platform

postpost postpost

connecting platform to post

ITEM 
NO. PART NUMBER

1 bolt DIN603 M10x100
2 bolt DIN603 M10x60
3 nut DIN985 M10
4 Woodscrew 6 x 90
5 nut cover M10
6 nut cover cap M10

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 16 OF 24SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



66 55 44

4 5 6

3 1 2

3 1 2

panel

post

connecting panel to post

ITEM 
NO. PART NUMBER

1 corner 48x60
2 bolt DIN603 M10x100
3 bolt DIN603 M10x30
4 nut cover M10
5 nut DIN985 M10
6 nut cover cap M10

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 17 OF 24SCALE: 1:10

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



88 99 77

5 6 3

7
9 8

8
10

7

798

7 9 8
6

4

2

2

5
6

3
1

6

798

1111

12
14

13

post
slide

It is important to drill 8,5mm holes
through side panel and slide.
   

ITEM 
NO. PART NUMBER

1 side panel 110x780
2 slide side panel
3 slide side panel fixing 40x120
4 slide guardrail
5 bolt DIN603 M10x100
6 bolt DIN603 M10x30
7 nut cover M10
8 nut cover cap M10
9 nut DIN985 M10
10 bolt DIN931 M10x50
11 bolt DIN603 M8x45
12 nut cover M8
13 nut cover cap M8
14 nut DIN985 M8

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 18 OF 24SCALE: 1:12

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



A

55

3

4

34

11

666

8
8

9 9

7
7

33

ground fixing

slide

platform

22

DETAIL A 
SCALE 1 : 5

10

11

6

ITEM 
NO. PART NUMBER

1 bolt DIN603 M8x30
2 bolt DIN603 M8x50
3 nut DIN985 M8
4 nut cover M8
5 nut cover cap M8
6 bolt DIN603 M10x50
7 nut DIN985 M10
8 nut cover M10
9 nut cover cap M10
10 corner 58x30
11 metal screw DIN 7380 M8x16

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 19 OF 24SCALE: 1:12

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



A

33 11

4 3
55

3

4

22

9

7

8

66

ground fixing

slide

platform

DETAIL A 
SCALE 1 : 5

11
10

12

connecting slide to platform

ITEM 
NO. PART NUMBER

1 bolt DIN603 M8x30
2 bolt DIN603 M8x50
3 nut DIN985 M8
4 nut cover M8
5 nut cover cap M8
6 bolt DIN603 M10x50
7 nut DIN985 M10
8 nut cover M10
9 nut cover cap M10
10 corner 58x30
11 screw DIN 7996 d.6x50
12 metal screw DIN 7380 M8x16

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 20 OF 24SCALE: 1:12

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



1

2 3 4

post

connecting guardrail to post

ITEM 
NO. PART NUMBER

1 guardrail 25x770
2 nut cover M10
3 bolt DIN931 M10x100
4 nut cover cap M10

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 21 OF 24SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



22

33

4
11

224 33 44

22
33

44

post

beam

climbing net

connecting beam and climbing net to post

ITEM 
NO. PART NUMBER

1 bolt DIN603 M10x100
2 nut cover M10
3 nut DIN985 M10
4 nut cover cap M10

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 22 OF 24SCALE: 1:8

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



432

1
2 43

432

432

5

55

5

connecting climbing pole to post

ITEM 
NO. PART NUMBER

1 climbing pole
2 nut cover cap M10
3 nut DIN985 M10
4 nut cover M10
5 bolt DIN603 M10x100

C

2 31 4

B

A

D

E

F

LM300-4

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

5.12.2012M.Rebase

WEIGHT: 

wood, metal, plastic A4
SHEET 23 OF 24SCALE: 1:8

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Multi Activity Centre OLD TOWN Maxi



1

6 5 2

9
10
8
3

44

4

7

4

9 10 8 3

1

1

6 5 2

4

4

this hole should be on the
right side of each panel

ITEM 
NO. PART NUMBER

1 roof panel triangle
2 corner 60x60
3 roof fixture
4 bolt DIN603 M8x25
5 washer M8
6 nut DIN985 M8
7 bolt DIN603 M10x30
8 nut cover M10
9 nut cover cap M10
10 nut DIN985 M10

B

C

D

1 2

A

321 4

B

A

5 6

C

Multi Activity Centre OLD TOWN Maxi

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:14 SHEET 24 OF 24

A4wood, metal, plastic
WEIGHT: 

M.Rebase 5.12.2012

Tiptiptap OÜ
Veetorni 9,

Jüri alevik, Rae vald,
75301 Harjumaa

LM300-4


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet5
	Drawing View7

	Sheet6
	Sheet7
	Drawing View8

	Sheet8
	Drawing View9

	Sheet9
	Drawing View10

	Sheet10
	Drawing View11

	Sheet11
	Drawing View12

	Sheet12
	Drawing View13

	Sheet13
	Drawing View14

	Sheet14
	Drawing View15

	Sheet15
	Drawing View16
	Drawing View17

	Sheet16
	Drawing View18

	Sheet17
	Drawing View19

	Sheet18
	Drawing View20

	Sheet19
	Drawing View21
	Detail View A (1 : 5)

	Sheet20
	Drawing View23
	Detail View A (1 : 5)

	Sheet21
	Drawing View25

	Sheet22
	Drawing View26

	Sheet23
	Drawing View27

	Sheet24
	Drawing View28


